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SSLC Top Test Series
Time : 45 Mnts

Std. 10 Score : 20

 Biology
(Type - A)  (5, 6, 7, 8)

Test - 19E

Instructions :
Ä The first 7 minutes is cool - off time
Ä This time is to be spent for reading the questions paper
Ä You are not supposed to write anything during the cool - off time
Ä Read the instructions carefully and attempt the questions

Answer  all  questions from 1 to 3. Each question carries 1 score. (3 x 1 = 3 score)

1. Identify the word pair relationship and fill in the missing word. Mention the relation among the pairs.

The theory of Chemical evolution  : Oparin and Haldane :: The theory of natural selection : .............

2. Find the odd one out. Write the common features of others.

Adenine, Thymine,Guanine, Cytocine

3. What are genetic scissors? Write an example.

Answer any four  questions from 4 to 8. Each question carries 2 score.(4 x 2 = 8 score)

4. Observe the news and answer the questions given below.

Technology help to  identify persons found after long periods of missing due to  wars.

(a) Name the technology mentioned  in the news.

(b) How this technology help in identifying the relatives?

5. Phagocytosis in a defense action.

(a) Name the white blood cells engaged inthis process.

(b) What is the role of lysosome in this defense action?

6. An arguement related to an evolution is illustrated as flow chart. Analyse the flow chart and answer the

questions given below.

Giraffes had short necks   They faced food scarcity  they stretched their necks to reach out

to tall trees.   Giraffes with long necks.

(a) Who proposed this argument?

(b) Which idea was explained through this arguement?

7. Fever is a condition when the body temperature rises above the normal level.

(a) What is the normal  body temperature?

(b) What is the cause of rise in  body temperature?

8. What is the role of the following RNA in protein synthesis?

(a) tRNA  (b) mRNA

Answer  all questions from 9 to 11. Each question carries 3 score. (3 x 3 = 9 score)

9. What are nitrogen bases? Name the nitrogen bases in DNA and the specificity maintained  in pairing.

10. Thouguh pesticides are used regulatly, pests are not completely destroyed. Analyse this statement on the

basis of the theory of Natural selection?

11. What are the side effects due to the regular use of antibiotics?
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